
 
 

 
 
 

MIP Cemtrex Inc. ● 19 Engineers Lane ● Farmingdale, NY USA ● 11735 ● Tel:631.756.9116 Fax: 631.420.4985 ● mip.cemtrex.com ● info@cemtrex.com 

 

 
Recommended Spare Parts 
 
 

SP2000-H/DIL-VA 230V Gas Sample Probe 
Manufacturer P/N Cemtrex P/N Description 
90S0020 20-336-2000 Filter element type S-2K150. Length: 150mm, 

material: ceramics, filter porosity: 2µm. 
90F0125 20-307-2314 Filter element type F-0,1GF150. Length: 150mm, 

material: glass fiber, filter porosity: 0,1µm. 
20S4300 20-336-1008 Complete set SP2000H/DIL critical orifice incl. 2x 

O-ring. Material: glass # please indicate ratio with 
the order. 

93S2083 20-307-2315 Special spun-glass hightemperature resistant for 
probes with /FW insert. Contents:1000g. 

93S2096 20-307-2316 Spun glass cartridge element FW with Demister, 
stainless steel, without filling. 

93S0045 20-336-5000 Gasket (30) for filter element. Material: Viton. 
93S0051 20-307-2318 Adaptor for probe filter element F-0,1GF150 

Material PTFE. 
93S0020 20-336-3000 O-ring (39) for SP2000 and CLF. Material: Viton. 
93S0025 20-336-4000 O-ring (55) for SP2000. Material: Viton. 
93S0035 20-30-2319 Sealing spiral o-ring (39) for SP2000/7aT. Material: 

PTFE. 
93S0040 20-307-2320 Sealing spiral o-ring (55) for SP2000/7aT. Material: 

PTFE. 
90S2077 20-307-2322 Flange gasket DN65 PN6B (67). Material: 

Novapress. 
93S2350 20-336-6000 Flange gasket 3" ANSI. 
90S2075 20-307-2324 Flange gasket set for DN65 PN6B consisting of 

gasket (67) and a set of screws M12x60 
93S0010 20-307-2338 Thermostat (0-180°C), with over-temperature limiter 

and low-temperature alarm for probe series SP. 
93S0018 20-307-2340 Temperature resistant heat sink compound, 100g-

tube. 
93S0015 20-307-2341 Heating cartridge for SP2000-H, L=160mm, 

230V/800W. 
93S0017 20-336-1003 Heating cartridge for SP2000-H, L=160mm, 

115VAC/800W. 
93S0059 20-307-2342 PT100 sensor for SP2000H,,SP3200 
93S0060 20-307-2385 Spare thermoelement Fe-CuNi for SP.../H320. 
93S0061 20-336-1012 Spare thermocouple NiCr-Ni for SP. 
93S0019 20-307-2344 Aluminium body for heating cartridge SP2000H. 
93S0085 20-307-2386 Press-Screw M8 for filter housing lid SP2000/2100-

H. 
93S2125 20-307-2326 Clamp LK 115 for filter housing lid SP2000H. 
93S0065 20-307-2345 Mounting clip 1 1/4" for heated sample line and 

SP2000-H. 



 
 

 
 
 

MIP Cemtrex Inc. ● 19 Engineers Lane ● Farmingdale, NY USA ● 11735 ● Tel:631.756.9116 Fax: 631.420.4985 ● mip.cemtrex.com ● info@cemtrex.com 

 

 

 

Manufacturer P/N Cemtrex P/N Description 
93S2085 20-307-2346 Filter housing lid compl. for SP2000-H with viton-o-

ring,filterholder and press screw up to Ser.no.10282 
93S2087 20-307-2327 Filter housig lid compl for SP2000./7aT with PTFE 

gasket lid seal filter element clamp. Up to 
SNo.10283 

93S2080 20-307-2328 Filter housing lid compl. for SP2000-H/FW. Spun 
glass filter element without filling. With Viton o-
rings and flat gasket made of Novapress up to SNo. 
10283 

93S2084 20-307-2329 Filter screw M6 for SP2000, 1.4571. 
93S0090 20-307-2349 Hand screw M6 for SP2000 connection protection. 
93S0100 20-336-1010 Blowback/calibration gas valve for probe type 

SP2XXX and SP3XXX with integrated filter, 
Working pressure: 0,7bar, Connection: 1/4"NPT-
DN4/6 Material: SS316, Viton. 

93S0070 20-307-2350 Spare weather protection shield for SP2000-H and 
SP2000-H/DIL. 

93S2353 20-307-2426 Flange gasket 3" ANSI. with hole for BR Material 
Novapress 

93S4006 20-307-2427 Dilution cross 180°C/320°C empty, without any 
inserts Material SS316 

93S4009 20-307-2428 Gasket set for critical orifice of probe SP2000-
H/DIL and SP2006-H/DIL, 2x Viton O-Ring 2,9 x 
1,78. 


